O mEEHEER
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“BEME _EE=F Z-BEME _EE=-F -BEME _ETE=f
53 BEFT  ERTT  ERTT BT EMFIT E%Tn
(E3) (E3) (E3)
EXE 5 61,564 - 130,392 116,838 191,956 116,838
HEMK (4,541) - (63,548) (79,794)  (68,089) (79,794)
EX 57,023 - 66,844 37,044 123867 37,044
HEilA 5 4,219 210 440 97 4,659 307
61,242 210 67,284 37141 128526 37,351
HERX - - (55,315)  (29,756)  (55,315)  (29,756)
THRX (41,067)  (3,758)  (7,995)  (6,825) (49,062) (10,583)
Hth ST T8 (211) (650) - - (211) (650)
HEWBLARZWE 10 7,984 — - 10 7,984
HRHMER 6 4,036 36,180 - - 4,036 36,180
HECKREREER 2 E 7 — - 2,304 - 2,304 -
BERT 9 24,010 39,966 6,278 560 30,288 40,526
BHBEA 10 (299)  (4,590) (23) (52) (322) (4,642
BR % A % A 23,711 35,376 6,255 508 29,966 35,884
BB 11 — - (642) (167) (642) (167)
BREBERN 23,711 35,376 5,613 341 29324 35717
PERFES (12,671) - (1,21) (7) (13,882) (7)
BREGOEEBERNNPHE 29 11,040 35,376 4,402 334 15442 35710
BREA 13
-HEX 0.98 fll 9.0 1l
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